Mualbutriot vesions & Jolnouth % k‘{fctﬁ("w&lz @
451
Mulﬁme Distrdoubion 2118
bbbl oo K sl ondows wsled & 2
Yun A el drads
X, = & ouleowss o ‘\*ﬂh i Pm\:lk(f\ﬁ D

gM‘- A lew Jous 1O qawes.
Aecyoms M&PeAML ouk tomes.

POGM Lot on onda 3%,
Loe & 0 0% danee £ w\wniuj

44535, oo ICBH‘?
0% - - he

Rl prondel ey Lt do denw wnes b, 25.{2,
Gnd Yes 2.

Mulbnowied (n=10,02.5,0,: 4, ps=.D
o(623) = (¢20) 5% 4> #



®

&U‘h\l&f\k‘h \shlpﬂ' &c.w.rbﬂt Prsbrbubion

?:Qdmkrm & Witews | e o dude & St W
0\"“4"1(“{ X‘:—'-S‘FOQH?'J
Q‘z . o 2 X, = “ 2
Q.,_ * .“k x;_:- --- k
N | | n
QN /4, Qe

?(d‘\)ﬂl)-")ﬂb\ = ('&)(‘2\ (Y\)

o)

\4!

éw: oo polenbiod jumrs

j00  (autesion
(pC) '&ﬂ'ml AAsei con
4o, Msion/Brecicon

Sl 12 Juors,  Find e pribitity Yt
oW\ 2 are Caucosian

Nauth ‘\‘(WS“’M ( N= W2, A2, R =100, Q= 69, 05:40)
() (SY5)
G3)

P(IZ)0,0) =



@m&mbw
)cheombnt S O X G+ O« ]

- Q

— ——

-7

Kt & sepumes of Beemowl; briok.

(TQQQM ks, 2 gomte ok oues M "“"()
Some, Suctes Hriabrlity {h’o..j\mn"’-)
X= b on v e 12 suceess otturs,

K= ‘,'2] --. dfb: fx_‘ P

Mot do <ee & $e & o did peb. S,

7 2 . ,
{:‘: ’Z_i p = {,*’Pi*ft*
o . .

-4
Fied r = E|x] = %i?m = Z“f‘_'f
L = ! = 2(3*‘5‘1\1P |

0°®“ aa@ ‘Po
= Zate+ 24



-¢
- % 7
= ¢ = Z ! -
ZIe T1Z'h s gp
S = gpd
D=0 pe gt ¥
T \\Ni\m & found simni \ML(.
. 9
q” = -f"i

®
Nﬂi‘:\\t Bivow: JV&'\'{\uW oy (},c& 'D.*w

N Sefuives X Berasulls etk
Y= beed on whide e KE suress otenrs,

X= k)kr‘, .« ors

f(k) = Pk sueesses m 0 =) = 1)':

| ‘)(k*h = (7( Ay derd won G Sutess kA
e \E kol bd k-t sueuxes
and 4 Siure)

= (5007 = () e



®

?(k-\rJB ?( D dewd wis 6 sueoss AND
e @ bk bk Wd k-4 Suecess
6wd 2 'Fhlu“e%)

= - (v e = (e

k -k

Ta %zmd \Pf-p\ G D Xk,

fnd N ad €

X: X\‘\' 11+--.-\Y\k
20 3 M, t\\alp.

i

L] = g t]e-..x ElK]T = k.P ®
N{M: Ve e ving s k2

G.>M"|'0§$ (49.() j-\\njlm{l\ \'ou q.lt 5 kmk
rd e tepeetid waber & 4ok,

Mﬁm(k:ﬂ r:-‘;_) ELK’]:%:% =lo

fmd 4o (n\u\;c\&( Kot o 5%Naed ceturs on
tos, wuabee 7 QD)= T ‘)(*) =z



